

ADDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Solicitation

NUMBER BCF13013

AS INDICATED BELOW

PAGE 1

ADDRESS CORRESPONDENCE TO ATTENTION OF:

FRANK WHITTAKER 304-558-2316

HEALTH AND HUMAN RESOURCES VARIOUS LOCATIONS

RFQ COPY
TYPE NAME/ADDRESS HERE

Alleleel, Anc.
3210 Sleena are.
Musicatine, Jowe 52761

DATE PRINTED
07/16/2012

07/16/2012 | BID OPENING TIME 1:30PM

BID OPENING DATE:	07/19/2	012		BID	OPENING TIME	T:30PM
LINE	QUANTITY	UOP	CAT, I	TEM NUMBER	UNIT PRICE	AMOUNT
		AID	DENDUM NO	. 1		
DATI SIGI	E & TIME.	PROVI	DE THE AT	FACHED MAND	BID OPENING ATORY PRE-BID AND ANSWERS PI	ER .
0001	1	ъ	425-9			
new	MODULAR I	URNIT	URE FOR L	OGAN COUNTY	DHHR OFFICE	
***	*** THIS	IS TH	E END OF	RFQ BCF13	6013 ***** TO	TAL: 245,332.61
					REC	CEIVED
					2012 JUL 1	RCHASING VISION
SIGNATURE	la hora			TELEPHONE	412) 715-5108	DATE 7/10/12

Account Development Nanager 36-0717079 ADDRESS CHANGES TO BE NOTED ABOVE



VENDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER BCF13013 1

ADDRESS CORRESPONDENCE TO ATTENTION OF

FRANK WHITTAKER

304-558-2316

Ţ

HEALTH AND HUMAN RESOURCES VARIOUS LOCATIONS AS INDICATED BELOW

DATE PRI	NTED	TEI	RMS OF SA	lE.	SHIP	VIA	F.O.B.	FREIGHTTERMS
06/07/								
BID OPENING DATE	<u>:</u> 0	7/17/	2012			BID (PENING TIME	01:30PM
LINE	QUAN	TITY	UOP	CAT.	ITEM NU	MBER	UNIT PRICE	AMOUNT
0001		1	JB	4	25-94			# 245,332,61
	NEW MOD	ULAR 1	PURNIT	TURE 1	OR LOGAN	COUNTY	DHHR OFFICE	# 01.72301.7
								a a
							4	
	THE WES	T VIRO	INIA	STATI	PURCHAS:	ING DIVI	SION IN	
	ACCORDA	NCE W	тн тн	E PRO	VISIONS (OF SYSFU	RN10, IS	
	SOLICIT:	ING SI	CONDA	RY CO	MPETITIVI	E BIDS F	ROM SYSFURN10	
	VENDORS	TO PI	OVIDE	THE	AGENCY,	THE WEST	VIRGINIA	
1	DEPARTM	ENT OF	HEAI	IA HT	ID HUMAN I	RESOURCE	S, WITH MODULA	IR
							ICE LOCATED	
					'ICATIONS		GINIA, 25601,	
							ED TO THOSE ARD UNDER	
					DS WILL E			
1	SYSFURN	VENDO	RS MU	IST BI	D ONLY PR	RODUCTS	FROM CATALOGS	
							NTRACT. VENDO S WILL BE	PRS
	MANDAT	TORY F	RE-BI	D WII	L BE HELI	ON		** d
	06/28/20	012 AT	10:0	O AM,	ROOM 732	2, 350 C	APITOL STREET,	ev de
				SEERE	VERSE SIDE FOR T			
SIGNATURE	rey L	-1 /m	ylobi	W		TELEPHONE	D	ATE 7/19/12
TITLE account Delado	arrent Ma	16991	ΞIN	36-	071707	9	ADDRESS CHAN	IGES TO BE NOTED ABOVE



VENDOR

RFO COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER BCF13013

ADDRESS CORRESPONDENCE TO ATTENTION OF

FRANK WHITTAKER 804-558-2316

ð

HEALTH AND HUMAN RESOURCES VARIOUS LOCATIONS AS INDICATED BELOW

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS 06/07/2012 **BID OPENING DATE:** 07/17/2012 BID OPENING TIME 01:30PMLINE QUANTITY UOP ITEM NUMBER UNIT PRICE AMOUNT ₩V 25\$01. ALL INTERESTED CHARLESTON, PARTIES ARE REQUIRED TO ATTEND THIS MERTING. FAILURE TO ATTEND THE MANDATORY PRE-BID SHALL RESULT IN DISQUALIFICATION OF THま BID. NO ONE PERSON MAY REPRESENT MORE THAN ONE BIDDER. AN ATTENDANCE SHEET WILL BE MADE AVAILABLE FOR ALL POTENTIAL BIDDERS TO COMPLETE. THIS WILL SERVE AS THE OFFICIAL DOCUMENT VERIFYING ATTENDANCE AT THE MANDATORY PRE-BID. FAILURE TO PROVIDE YOUR COMPANY AND REPRESENTATIVE NAME ON THE ATTENDANCE SHEET WILL RESULT N DISQUALIFICATION OF THE BID. THE STATE WILL NOT ACCEPT ANY OTHER DOCUMENTATION TO VERITY ATTENDANCE. THE BIDDER IS RESPONSIBLE FOR ENSURING THEY HAVE COMPLETED THE INFORMATION REQUIRED ON THE ATTENDANCE THE PURCHASING DIVISION AND THE STATE AGENCY WILL NOT ASSUME ANY RESPONSIBILITY FOR A BIDDER-S AILURE TO COMPLETE THE PRE-BID ATTENDANCE SHEET. DDITION, WE REQUEST THAT ALL POTENTIAL BIDDERS INCLUDE THEIR E-MAIL ADDRESS AND FAX NUMBER. ALL POTENTIAL BIDDERS ARE REQUESTED TO ARRIVE PRIOR TO THE STARTING TIME FOR THE PRE-BID. BIDDERS WHO ARRIVE LATE, BUT PRIOR TO THE DISMISSAL OF THE TECHNICAL PORTION OF THE PRE-BID WILL BE PERMITTED TO SIGN IN. BIDDERS WHO ARRIVE AFTER CONCLUSION OF THE TECHNICAL PORTION OF THE PR中-BID BUT DURING ANY SUBSEQUENT PART OF THE PRE-BID WILL NOT BE PERMITTED TO SIGN THE ATTENDANCE SHEET. TECHNICAL QUESTIONS CONCERNING THIS SOLICITATION MUST BE SUBMITTED IN WRITING TO FRANK WHITTAKER IN THE WEST VIRGINIA STATE PURCHASING DIVISION VIA FAX AT 304-558-115 OR VIA KMAIL AT FRANK.M.WHITTAKER@WV.GOV . DEADLINE FOR ALL TECHNICAL QUESTIONS IS 07/02/2012 SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURÉ TELEPHONE DATE uen TITLE FEIN ADDRESS CHANGES TO BE NOTED ABOVE

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.html and is hereby made part of the agreement provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



VENDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

BCF13013

000	DAGE
	1.094
	2

ADDRESS CORRESPONDENCE TO ATTENTION OF

FRANK WHITTAKER 304-558-2316

SH TO

HEALTH AND HUMAN RESOURCES VARIOUS LOCATIONS AS INDICATED BELOW

DATE PRINTED	O TER	MS OF SALE	SHIP VIA	FOB	FREIGHT TERMS
06/07/20					
BID OPENING DATE:	07/17/7		BTD (OPENING TIME O	1;30PM
LINE	QUANTITY	UOP CAT. NO:	ITEM NUMBER	UNIT PRICE	AMOUNT
ΓĄ	THE CLOSE	OF BUSINES	SS.		
			S RECEIVED WILL H I TO BE ISSUED AN		E
TH ON TO	HE VENDOR AN NLY INFORMAT	ID ANY STAT	ANY VERBAL COMMUTE PERSONNEL IS NO IN WRITING AND NO BY A FORMAL N	OT BINDING.	
;s тн фг ¢о	S PERMITTED HE STATE BUY F THE BID. T	WITHOUT THE TER. VIOLATHE STATE B MY AND ALI	VENDOR AND ANY A TE EXPRESS WRITTE TION MAY RESULT BUYER NAMED ABOVE INQUIRIES AFTER	N CONSENT OF IN THE REJECTION IS THE SOLE	
EX	HIBIT 10		REQUISITION N	10 .	
AD.	DENDUM ACKN	OWLEDGEMEN	7,000 A PAT 1		
AD:	DENDUM(S) A	ND HAVE MA	CEIPT OF THE FOI DE THE NECESSARY OR SPECIFICATION	REVISIONS TO	
ADI	DENDUM NO.	S:			
NO	. 1				
NO	. 2				
мо	. 3	•			
SIGNATURE ///		SEE REV	VERSE SIDE FOR TERMS AND CON TELEPHONE	NDITIONS DATE	
Joffely	L1 / 1808/2	er			
TITLE / 4/19	FEI	N		ADDRESS CHANGE	S TO BE NOTED ABOVE



HODOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

BCF13013

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

ADDRESS CHANGES TO BE NOTED ABOVE

FRANK WHITTAKER 304-558-2316

H SH V P T O

HEALTH AND HUMAN RESOURCES
VARIOUS LOCATIONS
AS INDICATED BELOW

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS 06/07/2012 **BID OPENING DATE:** 07/17/2012 BID OPENING TIME 01:30PM CAT. LINE QUANTITY UOP ITEM NUMBER UNIT PRICE AMOUNT MO. 4 MO. 5 UNDERSTAND THAT FAILURE TO CONFIRM THE RECEIPT OF HE ADDENDUM(S) MAY BE CAUSE FOR REJECTION OF BIDS. Vendor must ¢learly understand that any verbal REPRESENTATION MADE OR ASSUMED TO BE MADE DURING ANY ФRAL DISCUSS‡ON H‡LD B靠TWEEN VENDOR'S ℟EPRESENTATIVES AND ANY STATE PERSONNEL IS NOT BINDING ONLY THE INFORMATION ISSUED IN WRITING AND ADDED TO THE SPECIFICATIONS BY AN OFFICIAL ADDENDUM IS BINDING SIGNATURE COMPANY DATE NOTE: THIS ADDENDUM ACKNOWLEDGEMENT SHOULD BE SUBMITTED WITH THE BID REV. 09/21/2009 THE MODEL/BRAND/SPECIFTCATIONS NAMED HEREIN ESTABLISH THE ACCEPTABLE LEVEL OF QUALITY ONLY AND ARE NOT NTENDED TO REFLECT A PREFERENCE OR FAVOR ANY PARTICULAR BRAND OR VENDOR. VENDORS WHO ARE BIDDING LTERNATES SHOULD SO STATE AND INCLUDE PERTINENT ITERATURE AND SPECIFICATIONS. FAILURE TO PROVIDE SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURE DATE TITLE



VENDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

Ţ

RFQ NUMBER BCF13013

P	AGE	
	-	
	-	6

ADDRESS CORRESPONDENCE TO ATTENTION OF

FRANK WHITTAKER 304-558-2316

HEALTH AND HUMAN RESOURCES VARIOUS LOCATIONS AS INDICATED BELOW

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRINTED TERMS OF SALE	SHIP VIA	F.O.B	FREIGHT TERMS
06/07/2012 BID OPENING DATE: 07/17/2012			
07/17/2012	BID O	PENING TIME 01	30PM
LINE QUANTITY UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
INFORMATION FOR ANY AI REJECTION OF THE BID. TO WAIVE MINOR IRREGUI IN ACCORDANCE WITH SEC VIRGINIA LEGISLATIVE F	THE STATE RESERVE ARITIES IN BIDS OF TION 148-1-4(F) OF	ES THE RIGHT R SPECIFICATIONS F THE WEST	
		ж	
A SIGNED BID MUST BE S	WBMITTED TO:		
DEPARTMENT OF ADM PURCHASING DIVISI BUILDING 15	фи		
2019 WASHINGTON S CHARLESTON, WV 2	TREET, EAST 5305-0130		
THE BID SHOULD CONTAIN THE ENVELOPE OR THE BI SEALED BID	THIS INFORMATION D MAY NOT BE CONSI	ON THE FACE OF IDERED:	
BUYER:	RANK WHITTAKER -	FILE 44	
RFQ. NO.:	CF13013/SECONDARY	BID SYSFURN10	
BID OPENING DATE:	7/17/2012		
	:30 PM		
PLEASE PROVIDE A PAX NU SEERE	MBER IN CASE IT I	S NECESSARY	
GNATURE HARLY & Busheer	TELEPHONE	DATE	
TLE FEIN		ADDRESS CHANGES 1	TO BE NOTED ABOVE
WHEN RESPONDING TO BEG. INSEE	T NAME AND ADDDESS IN	AND DESCRIPTION OF MARKET AND	



NENDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER BCF13013 PAGE 6

ADDRESS CORRESPONDENCE TO ATTENTION OF

FRANK WHITTAKER 304-558-2316

SHIP Ö

HEALTH AND HUMAN RESOURCES VARIOUS LOCATIONS AS INDICATED BELOW

DATE PRINT	red .	TER	MS OF SAL	E	SHIP VIA	FOB.	FREIGHT TERMS
06/07/2							
BID OPENING DATE:	0	7/17/2	2012	on occorrectors.	BID C	PENING TIME 01:	30PM
LINE	QUAN	TITY	UOP	CAT. NO.	ITEM NUMBER	UNIT PRICE	AMOUNT
				ARDII	G YOUR BID: PRINT CLEARLY):		
					Jeffrey L. (412) 715 — Sam Ste (800) 525 —	Barber, al -5/08 out, Pos 1951	Usteel
*	****	THIS	IS TH	IE ENI	OF RFQ BCF130	13 ***** TOTAL:	
SIGNATURE ///	7 1	0 0		SEE RE	VERSE SIDE FOR TERMS AND CON TELEPHONE	NDITIONS DATE	
Vark-UM	4,120	estel	V		TEEL HONE	DATE	
TITLE / 99 9)		FE	IN			ADDRESS CHANGES	TO BE NOTED ABOVE

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: BCF13013

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)

	[4	Addendum No. 1	[]	Addendum No. 6		
	1]	Addendum No. 2	[]	Addendum No. 7		
	[]	Addendum No. 3]]	Addendum No. 8		
	[]	Addendum No. 4	[]	Addendum No. 9		
	[]	Addendum No. 5]]	Addendum No. 10		
I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.								
						Jegrey Barber		
						Authorized Signature		
						7/19/19		

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Revised 6/8/2012

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts). West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
requirer against or dedu	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ments for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency cted from any unpaid balance on the contract or purchase order.
authoriz the requ deemed	nission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and tes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid ulired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
and acc	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate as during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
	All tol Parly have allie Leve Signed: Sam A fold

Title:

*Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

RFQ No. BC F 130/3

Purchasing Affidavit (Revised 12/15/09)

STATE OF WEST VIRGINIA **Purchasing Division**

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, Limited Liability Company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE
Vendor's Name: Alster Hygyland What is with the supply of
Authorized Signature:Date:Date:
State of Willy
County of Wood , to-wit:
Taken, subscribed, and sworn to before me this 19 day of July , 20/2
My Commission expires $90,20,3017$, 20
0 4000 0/1
AFFIX SEAL HERE NOTORY PUBLIC AMMY T. ASSIGNATION
AFFIA SEAL THE
Official Seal
Notary Public, State of West Virginia
Jenny L. Joseph
United Bank
514 Market St. Parkersburg, WV 28101
My Commission Expires February 20, 2017 &

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

SUMMARY

Section 3.3 (Workstations (73) (3rd Floor - 8 units) (4th Floor - 44 units) (5th Floor - 21 units) and Printer Areas	\$157,902.94
Section 3.3A File Room Workstations (3rd Floor - 2 units)	\$4,730.16
Section 3.3B (1) Workstations 5th Floor	\$2,020.33
Section 3.31 (2) Two - (Recepionists (3rd Floor)	\$581.16
Section 3.32 (10) (Interview rooms) 3rd Floor (6" Overhang on Approach Side)	\$10,289.35
Section 3.33 (2) Two Interview rooms and the design options for each are as follows (3rd Floor)	\$1,689.16
Section 3.34 (13) Enclosed Private Offices (3rd Floor - 2 units) (4th Floor - 8 units) (5th Floor - 3 units)	\$29,303.43
Section 3.35 4 Enclosed Offices (3rd Floor - 2 units) (4th Floor - 1 units) (5th Floor - 1 units)	\$8,061.64
Section 3.36 (1) Enclosed offices design as follows) 4th Floor	\$3,044.17
Section 3.37 (1) Enclosed offices design as follows (5th Floor)	\$5,731.00
Section 3.38 (1) Financial office with 2 people (2 units) (3ed Floor)	\$6,053.90
Section 3.39 (1) (Conference room) 5th Floor	\$4,878.76
Section 3.40 (2) (Hospitality Areas) (4th Floor - 1) (5 th Floor - 1)	\$915.60
Section 3.41 (1) (Lounge) (4th Floor)	\$1,617.00
Section 3.42 (Lobby Area) (3rd Floor)	\$3,330.60
Section 3.43 (Video Room) (3rd Floor)	\$865.78
Section 3.44 (Family Visitation Room) (3rd Floor)	\$754.25
Section 3.45 (Small Conference Room) (3rd Floor)	\$3,563.38
Section 3.46 and 3.46A (Storage Room) (3rd Floor - 11 units) and (5th Floor - 5 units)	No Bid
GRAND TOTAL	\$245,332.61

Total Section 3.3

\$157,902.94

To:

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Release No.:	BCF13013 Projec	t: DHHR, Bureau for Children and Families, Logan County Office		
Section 3.3 (Workstations (73) (3rd Floor - 8 units) (4th Floor - 44 units) (5th Floor - 21 units) and Printer Area	<u>s</u>	
Panels and C				
Qty	Part Number	Part Description (Concensys Catalog Dated 5-8-11)		
210	896936P	Acoustical Panel 69H x 36W Low Profile Painted, Page 212	\$122.00	\$25,620.00
46	896948P	Acoustical Panel 69H x 48W Low Profile Painted, Page 212	\$143.25	\$6,589.50
94	801869P	Panel End Cover 69H Low Profile Painted, Page 220	\$16.50	\$1,551.00
115	802269P	Straight In-line Connector Kit 69H Low Profile Painted, Page 218	\$16.50	\$1,897.50
23	802269P	Three-Way Connector Kit 69H Low Profile Painted, Page 218	\$44.75	\$1,029.25
25	802369P	Four-Way Connector Kit 69H Low Profile Painted, Page 218	\$44.75	\$1,118.75
		Vire Four Circuit System		residentiarous o atros o
19	870071	Integrated Power/Data Pole, Page 228	\$46.50	\$883.50
19	870074P	Trim/Connector Kits "Four-Way" Low Profile Top-Cap, Page 228	\$27.75	\$527.25
53	871236	Power Harness, Four Circuit, 36W, Page 226	\$47.00	\$2,491.00
37	871248	Power Harness, Four Circuit, 48W, Page 226	\$50.00	\$1,850.00
73	871502	Duplex Receptacle Circuit 2, 3+1 Systems, Page 227	\$8.50	\$620.50
73	871503	Duplex Receptacle Circuit 3, 3+1 Systems, Page 227	\$8.50	\$620.50
73	871504	Duplex Receptacle Circuit 4 Dedicated 3+1 Systems, Page 227	\$8.50	\$620.50
19	871912	Ceiling Power In-Feed Cable, 12', Page 227	\$54.00	\$1,026.00
Worksurface	s and Supports			
73	832436A	Primary 24Dx36W Flat Eg Laminate w/Grommet, Page 241	\$46.75	\$3,412.75
73	833624A	Corner 24Dx36W w/Straight Leading w/Grommet, Page 243	\$91.50	\$6,679.50
73	832448A	Primary 24Dx48W Flat Eg Laminate w/Grommets, Page 241	\$61.75	\$4,507.75
73	CE1636FDN	Overhead Storage Cabinet 36W/Flipper Door, Locking, Page 254	\$120.75	\$8,814.75
73	CE1648FDN	Overhead Storage Cabinet 48W/Flipper Door, Locking, Page 254	\$131.25	\$9,581.25
73	PF198-232I	Two Drawer Support Pedestal File-File, Locking, Page 392	\$132.75	\$9,690.75
73	PF197-233I	Three Drawer Support Pedestal Box-Box-File, Locking, Page 392	\$132.75	\$9,690.75
73	861336	Fabric Tackboard, Panel Mounted 36W x 13H, Page 255	\$33.50	\$2,445.50
73	870830	Tasklight w/electronic Ballast for 30W	\$51.75	\$3,777.75
73	870842	Tasklight w/Electronic Ballast for 48W	\$56.25	\$4,106.25
73	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray, Page 434	\$119.50	\$8,723.50
73	EASR48	Toolbar Slat Rail for Accessories, Panel Mounted, 48W	\$38.75	\$2,828.75
146	EAPT	Mail Box In-Out Trays Two Levels	\$16.25	\$2,372.50
73	EASS	Paper Wave, Three Divided Slots for Organizing Files	\$22.75	\$1,660.75
146	CCB24L	Cantilever Worksurface Support Bracket 24D LH, Page 248	\$11.50	\$1,679.00
146	CCB24R	Cantilever Worksurface Support Bracket 24D RH, Page 248	\$11.50	\$1,679.00
Printer Area	s and Supports	TC PGI 9650 ALERSS V60 BLUREI		*** *** *** ** ** ** **
16	PF198-232I	Two Drawer Support Pedestal File-File, Locking	\$132.75	\$2,124.00
32	CS36	Open Shelf, Panel Mounted, 36W, Page 255	\$50.75	\$1,624.00
8	832472A	Primary 24Dx72W Flat Eg Laminate w/Grommets, Page 231	\$86.75	\$694.00
8	832472A.T	Primary 24Dx74 1/4W Flat Eg Laminate w/Grommets, Page 231	\$94.25	\$754.00
8	CSL2429P	Recessed Support Leg, Panel Mount to Support Printer Weight	\$36.50	\$292.00
Seating			****	410.006.51
63	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty, Page 60	\$290.58	\$18,306.54
10	TR-SPR	Work LT Chair/Adj. Arms & Back, People Up To 500 lbs, Page 54	\$580.14	\$5,801.40
Miscellaneo	us Items	y g was see leaf.	41/22	#011.05
13	PMC6	Coat Hook, Panel Mounted (Package of 6), Page 432	\$16.25	\$211.25

\$4,730.16

Total Section 3.3A

To:

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber (412) 715-5108
- SAM STOUT (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.3A File Room Workstations (3rd Floor - 2 units)

Panels and		autons (Sra Pioor - 2 unus)		
Qty	Part Number	Part Description		
10	896936P	Acoustical Panel 69H x 36W Low Profile Painted, Page 212	\$122.00	\$1,220.00
4	801869P	Panel End Cover 69H Low Profile Painted, Page 220	\$16.50	\$66.00
3	802269P	Straight In-line Connector Kit 69H Low Profile Painted, Page 218	\$16.50	\$49.50
2	802169P	Two-Way Corner Connector Kit 69H Low Profile Painted, Page 218	\$28.25	\$56.50
2	802269P	Three-Way Connector Kit 69H Low Profile Painted, Page 218	\$44.75	\$89.50
Electrical C	omponents, Eight V	Vire Four Circuit System		
4	871236	Power Harness, Four Circuit, 36W, Page 226	\$47.00	\$188.00
10	871502	Duplex Receptacle Circuit 2, 3+1 Systems, Page 227	\$8.50	\$85.00
10	871503	Duplex Receptacle Circuit 3, 3+1 Systems, Page 227	\$8.50	\$85.00
10	871504	Duplex Receptacle Circuit 4 Dedicated 3+1 Systems, Page 227	\$8.50	\$85.00
1	879072	Base Power In-Feed Cable, 6', Page 227	\$52.50	\$52.50
Worksurface	es and Supports			
4	832436A	Primary 24Dx36W Flat Eg Laminate w/Grommet, Page 241	\$46.75	\$187.00
2	833624A	Corner 24Dx36W w/Straight Leading w/Grommet, Page 243	\$91.50	\$183.00
4	CE1636FDN	Overhead Storage Cabinet 36W/Flipper Door, Locking, Page 254	\$120.75	\$483.00
2	PF198-232I	Two Drawer Support Pedestal File-File, Locking, Page 392	\$132.75	\$265.50
2	PF197-233I	Three Drawer Support Pedestal Box-Box-File, Locking, Page 392	\$132.75	\$265.50
2	861336	Fabric Tackboard, Panel Mounted 36W 13H, Page 255	\$33.50	\$67.00
4	870830	Tasklight w/electronic Ballast for 30W, Page 435	\$51.75	\$207.00
2	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray, Page 434	\$119.50	\$239.00
2	EASR36	Toolbar Slat Rail for Accessories, Panel Mounted, 36W, Page 431	\$36.25	\$72.50
4	EAPT	Mail Box In-Out Trays Two Levels, Page 432	\$16.25	\$65.00
2	EASS	Paper Wave, Three Divided Slots for Organizing Files, Page 432	\$22.75	\$45.50
4	CCB24L	Cantilever Worksurface Support Bracket 24D LH, Page 248	\$11.50	\$46.00
4	CCB24R	Cantilever Worksurface Support Bracket 24D RH, Page 248	\$11.50	\$46.00
Seating				
2	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty, Page 60	\$290.58	\$581.16
Miscellaneo	us Items			
0	PMC6	Coat Hook, Panel Mounted, Package of 6 (From 3.3), Page 432	\$0.00	\$0.00

\$2,020.33

Total Section 3.3B

To:

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Keleuse No.: D	CF13013 Trojec	i. Diffix, Dureau for Chauten una Tamanes, Logan County Office		
Section 3.3B (1) Workstations 5	th Floor		
Panels and Co	nnectors			
Qty	Part Number	Part Description	Indian menangkan Managan	
1	896924P	Acoustical Panel 69H x 24W Low Profile Painted, Page 212	\$122.00	\$122.00
2	896936P	Acoustical Panel 69H x 36W Low Profile Painted, Page 212	\$122.00	\$244.00
1	896948P	Acoustical Panel 69H x 48W Low Profile Painted, Page 212	\$143.25	\$143.25
1	801869P	Panel End Cover 69H Low Profile Painted, Page 220	\$16.50	\$16.50
2	802269P	Straight In-line Connector Kit 69H Low Profile Painted, Page 218	\$16.50	\$33.00
1	802269P	Three-Way Connector Kit 69H Low Profile Painted, Page 218	\$44.75	\$44.75
Electrical Con	nponents, Eight W	Vire Four Circuit System		
1	871502	Duplex Receptacle Circuit 2 3+1 Systems, Page 227	\$8.50	\$8.50
1	871503	Duplex Receptacle Circuit 3 3+1 Systems, Page 227	\$8.50	\$8.50
1	871504	Duplex Receptacle Circuit 4 Dedicated 3+1 Systems, Page 227	\$8.50	\$8.50
Worksurfaces	and Supports			
1	832448A	Primary 24Dx48W T-Mold Edge Laminate w/Grommets, Page 241	\$61.75	\$61.75
1	832424A	Primary 24Dx24W T-Mold Edge Laminate w/Grommet, Page 241	\$43.50	\$43.50
1	833624A	Corner 24Dx36W w/Straight Leading w/Grommet, Page 243	\$91.50	\$91.50
1	CE1648FDN	Overhead Storage Cabinet 48W/Flipper Door, Page 254	\$131.25	\$131.25
1	CE1624FDN	Overhead Storage Cabinet 24W/Flipper Door, Page 254	\$113.00	\$113.00
1	PF198-232I	Two Drawer Support Pedestal File-File, Locking, Page 392	\$132.75	\$132.75
1	PF197-233I	Three Drawer Support Pedestal Box-Box-File, Locking, Page 392	\$132.75	\$132.75
1	861336	Fabric Tackboard, Panel Mounted 36W 13H, Page 255	\$33.50	\$33.50
1	870842	Tasklight w/Electronic Ballast for 48W, Page 435	\$56.25	\$56.25
1	870824	Tasklight w/electronic Ballast for 24W, Page 435	\$51.25	\$51.25
1	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray, Page 434	\$119.50	\$119.50
1	EASR24	Toolbar Slat Rail for Accessories, Panel Mounted, 24W, Page 431	\$32.50	\$32.50
2	EAPT	Mail Box In-Out Trays Two Levels, Page 432	\$16.25	\$32.50
1	EASS	Paper Wave, Three Divided Slots for Organizing Files, Page 432	\$22.75	\$22.75
2	CCB24L	Cantilever Worksurface Support Bracket 24D LH, Page 248	\$11.50	\$23.00
2	CCB24R	Cantilever Worksurface Support Bracket 24D RH, Page 248	\$11.50	\$23.00
Seating		* • · · · · · · · · · · · · · · · · · ·		
1	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty, Page 60	\$290.58	\$290.58
Miscellaneous	s Items			
0	PMC6	Coat Hook, Panel Mounted, Package of 6 (From 3.3), Page 432	\$0.00	\$0.00
			_	
			2 2 D	00 000 00

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.31 (2) Two - (Recepionists (3rd Floor)

Seating

2 SCU-UW.A Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty \$290.58 \$581.16 Seating Price List, Date May 8, 2011, Page 60

Total Section 3.31

\$581.16

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.32 (10) (Interview rooms) 3rd Floor (6" Overhang on Approach Side)

Desk Units				
10	833048A	Primary 30Dx48W Flat Eg Lam w/Grommets, Page 231	\$87.25	\$872.50
20	CEP2429F	End Panel Support Leg, Non-Handed, 24"D, Page 250	\$44.25	\$885.00
10	CS489	Full Height Modesty Panel, 48W, Page 251	\$39.50	\$395.00
10	PF197-203I	Three Drawer Support Pedestal Box-Box-File, Locking, Page 392	\$128.00	\$1,280.00
10	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray, Page 434	\$119.50	\$1,195.00
Tackboard				
10	861336	Fabric Tackboard, Wall Mounted 36W x 13H, Page 255	\$33.50	\$335.00
Seating				
10	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty, Page	60 \$290.58	\$2,905.80
20	NMBL-1FC	Armless Guest Chair, Polypropylene Shell, Page 110	\$57.75	\$1,155.00
<u>Tables</u>				
1	833066AN	Table Top, 30Dx66W	\$97.75	\$97.75
3	ALA3072RE	Table Top, 30Dx72W, Page 146	\$142.10	\$426.30
8	ABPFC	Post Legs, Casters, Pair, Page 147	\$92.75_	\$742.00
		Total Sec	etion 3.32	\$10,289.35

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.33 (2) Two Interview rooms and the design options for each are as follows (3rd Floor) (6" Overhang on Approach Side)

Desk Units			00505	0174.50
2	T53048S	Primary 30Dx48W Flat Eg Lam w/Grommets	\$87.25	\$174.50
4	CEP2429F	End Panel Support Leg, Non-Handed, 24"D	\$44.25	\$177.00
2	CS489	Full Height Modesty Panel, 48W	\$39.50	\$79.00
2	PF197-203I	Three Drawer Support Pedestal Box-Box-File, Locking	\$128.00	\$256.00
2	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray, Page 434	\$119.50	\$239.00
Tackboard			\$22.50	\$67.00
2	861336	Fabric Tackboard, Wall Mounted 36W 13H	\$33.50	φ07.00
<u>Seating</u>		18 8 8 88 W 85L 00 L	4200.50	φ σ 01.1 <i>C</i>
2	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$581.16
2	NMBL-1FC	Armless Guest Chair, Polypropylene Shell	\$57.75 _	\$115.50
		Total S	ection 3.33	\$1,689.16

\$29,303.43

Total Section 3.34

To:

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

Jeff L. Barber - (412) 715-5108
 SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.34 (13) Enclosed Private Offices (3rd Floor - 2 units) (4th Floor - 8 units) (5th Floor - 3 units)				
Seating	,,			
13	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$3,777.54
26	T-SLOP	Arm Guest Chair, Fabric Upholstery	\$151.14	\$3,929.64
Private Offic	es (All Offices Key	ed Alike)		
13	833672A	Peninsula Worksurface, 36Dx72W Flat Edge Laminate w/Grommet	\$171.50	\$2,229.50
13	832448A	Return Worksurface, 24Dx48W Flat Edge Laminate w/Grommets	\$61.75	\$802.75
13	CEP1129F	End Panel Support Leg, Non-Handed, 11"D	\$34.25	\$445.25
13	CEP3029F	End Panel Support Leg, Non-Handed, 30"D	\$40.75	\$529.75
13	831124	Flat Worksurface Support Bracket, 24D	\$9.75	\$126.75
13	CS729	Full Height Modesty Panel, 54W, Approach Side of Desk	\$36.00	\$468.00
13	PF198-232I	Two Drawer Support Pedestal File-File, 24D	\$132.75	\$1,725.75
13	EH48FDN	Stack-on Overhead Storage Hutch, 48W	\$142.00	\$1,846.00
13	862048	Fabric Tackboard, for Above Hutch, 48W	\$33.50	\$435.50
13	870842	Tasklight w/Electronic Ballast for 42W	\$56.25	\$731.25
13	PM137-233I	Three Drawer Mobile Pedestal Box-Box-File, Counter Weight, 24D	\$135.25	\$1,758.25
13	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray, Page 434	\$119.50	\$1,553.50
13	EAFT	Mail Box In-Out Trays Two Levels	\$33.25	\$432,25
13	EASS	Paper Wave, Three Divided Slots for Organizing Files, Page 432	\$22.75	\$295.75
13	ELF436NI	Four Drawer Lateral File/Locking, 36Wx18Dx52 1/3H	\$393.30	\$5,112.90
13	EBC60	Open Bookcase, 3-Adjustable Shelves, 36Wx13Dx60H	\$238.70_	\$3,103.10
		*		

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.35 4 Enclosed Offices (3rd Floor - 2 units) (4th Floor - 1 units) (5th Floor - 1 units)

a				
<u>Seating</u> 4	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$1,162.32
8	T-SLOP	Arm Guest Chair, Fabric Upholstery	\$151.14	\$1,209.12
	es (All Offices Key			
4	833672A	Peninsula Worksurface, 36Dx72W Flat Edge Laminate w/Grommet	\$171.50	\$686.00
4	832448A	Return Worksurface, 24Dx48W Flat Edge Laminate w/Grommets	\$61.75	\$247.00
4	CEP1129F	End Panel Support Leg, Non-Handed, 11"D	\$34.25	\$137.00
4	CEP3029F	End Panel Support Leg, Non-Handed, 30"D	\$40.75	\$163.00
4	831124	Flat Worksurface Support Bracket, 24D	\$9.75	\$39.00
4	CS729	Full Height Modesty Panel, 54W, Approach Side of Desk	\$36.00	\$144.00
4	PF198-232I	Two Drawer Support Pedestal File-File, Locking	\$132.75	\$531.00
4	EH48FDN	Stack-on Overhead Storage Hutch, 48W	\$142.00	\$568.00
4	862048	Fabric Tackboard, for Above Hutch, 48W	\$33.50	\$134.00
4	870842	Tasklight w/Electronic Ballast for 48W	\$56.25	\$225.00
4	PM137-233I	Three Drawer Mobile Pedestal Box-Box-File, Counter Weight, 24D	\$135.25	\$541.00
	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray	\$119.50	\$478.00
4	EAFT	Mail Box In-Out Trays Two Levels	\$33.25	\$133.00
4		Paper Wave, Three Divided Slots for Organizing Files	\$22.75	\$91.00
4	EASS ELF436NI	Four Drawer Lateral File/Locking, 36Wx18Dx52 1/3H	\$393.30	\$1,573.20
4	ELF430MI	Tour Diamer Lateral File Booking, 50 WK102/102 1.51	0 to 1000 1000 1000 1000 1000 1000 1000	AND THE PROPERTY OF

Total Section 3.35 \$8,061.64

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.36 (1) Enclosed offices design as follows) 4th Floor

Seating				4000 50
1	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$290.58
1	T-SLOP	Arm Guest Chair, Fabric Upholstery	\$151.14	\$151.14
Private Offic	es (All Offices Key	ed Alike)		
1	833672A	Peninsula Worksurface, 36Dx72W Flat Edge Laminate w/Grommet	\$171.50	\$171.50
1	832448A	Return Worksurface, 24Dx48W Flat Edge Laminate w/Grommets	\$61.75	\$61.75
1	CEP1129F	End Panel Support Leg, Non-Handed, 11"D	\$34.25	\$34.25
î	CEP3029F	End Panel Support Leg, Non-Handed, 30"D	\$40.75	\$40.75
i	831124	Flat Worksurface Support Bracket, 24D	\$9.75	\$9.75
î	CS729	Full Height Modesty Panel, 54W, Approach Side of Desk	\$36.00	\$36.00
1	PF198-232I	Two Drawer Support Pedestal File-File, Locking	\$132.75	\$132.75
1	EH48FDN	Stack-on Overhead Storage Hutch, 48W	\$142.00	\$142.00
1	862048	Fabric Tackboard, for Above Hutch, 48W	\$33.50	\$33.50
1	870842	Tasklight w/Electronic Ballast for 48W	\$56.25	\$56.25
1	PM137-233I	Three Drawer Mobile Pedestal Box-Box-File, Counter Weight, 24D	\$135.25	\$135.25
1	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray	\$119.50	\$119.50
1	EAFT	Mail Box In-Out Trays Two Levels	\$33.25	\$33.25
1	EASS	Paper Wave, Three Divided Slots for Organizing Files	\$22.75	\$22.75
4	ELF436NI	Four Drawer Lateral File/Locking, 36Wx18Dx52 1/3H	\$393.30	\$1,573.20
4	DDI 130IVI		_	

Total Section 3.36 \$3,044.17

\$5,731.00

Total Section 3.37

To:

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

G - d 2 27	(1) England office	s design as follows (5th Floor)		
The state of the s	(1) Enclosed offices	s design as follows (Sin Ploor)		
<u>Seating</u> 9	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$2,615.22
2	T-SLOP	Arm Guest Chair, Fabric Upholstery	\$151.14	\$302.28
	ces (All Offices Keye			
1	T53672SR	Primary Worksurface, 36Dx72W, Recessed Grommet	\$158.00	\$158.00
1	T52048S	Bridge Worksurface, 20Dx48W Flat Edge Laminate w/Grommets	\$76.50	\$76.50
1	832472M	Primary Worksurface, 24Dx72W Flat Edge Laminate w/Grommets	\$112.00	\$112.00
2	CEP3029F	End Panel Support Leg, Non-Handed, 30"D	\$40.75	\$81.50
2	CEP2429F	End Panel Support Leg, Non-Handed, 24"D	\$37.00	\$74.00
1	CBK29	Bridge Support Kit	\$29.75	\$29.75
1	CS729	Full Height Modesty Panel, 72W	\$38.50	\$38.50
1	CS604	Half Height Modesty Panel, 60W, For Accessing Outlets	\$35.50	\$35.50
î	CS724	Half Height Modesty Panel, 72W, For Accessing Outlets	\$36.75	\$36.75
1	PF197-233I	Three Drawer Support Pedestal Box-Box-File, Locking	\$132.75	\$132.75
1	PF198-232I	Two Drawer Support Pedestal File-File, Locking	\$132.75	\$132.75
1	EH72FDN	Stack-on Overhead Storage Hutch, 72W	\$221.50	\$221.50
1	862072	Fabric Tackboard, for Above Hutch, 72W	\$86.75	\$86.75
1	870860	Tasklight w/Electronic Ballast for 60W	\$56.25	\$56.25
2	ELF436NI	Four Drawer Lateral File/Locking, 36Wx18Dx52 1/3H	\$393.30	\$786.60
1	EBC60	Open Bookcase, 3-Adjustable Shelves, 36Wx13Dx60H		
1	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray	\$119.50	\$119.50
1	EAFT	Mail Box In-Out Trays Two Levels	\$33.25	\$33.25
1	EASS	Paper Wave, Three Divided Slots for Organizing Files	\$22.75	\$22.75
Tables				
1	ALM4884RE	Conference Table Top, 48Dx84W	\$317.45	\$317.45
1	ABT34FG	Table Base For Above Top	\$180.60	\$180.60
1	ABAR50	T-Base Strecher Bar	\$51.80	\$51.80
1	Z5SC84	External Table Top Support Channel	\$29.05	\$29.05
Miscellanea	ous Items			
1		Visual Board	No Bid _	

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.38 (1) Financial office with 2 people (2 units) (3ed Floor)

<u>Seating</u>				
2	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$581.16
1	T-SLOP	Arm Guest Chair, Fabric Upholstery	\$151.14	\$151.14
Private Offic	ces (All Offices Key	ed Alike)		
2	833672M	Peninsula Worksurface, 36Dx72W Flat Edge Laminate w/Grommet	\$218.75	\$437.50
2	832448M	Return Worksurface, 24Dx48W Flat Edge Laminate w/Grommets	\$80.75	\$161.50
2	CEP1129F	End Panel Support Leg, Non-Handed, 11"D	\$34.25	\$68.50
2	CEP3029F	End Panel Support Leg, Non-Handed, 30"D	\$40.75	\$81.50
2	831124	Flat Worksurface Support Bracket, 24D	\$9.75	\$19.50
2	CS729	Full Height Modesty Panel, 54W, Approach Side of Desk	\$36.00	\$72.00
2	PF198-232I	Two Drawer Support Pedestal File-File, Locking	\$132.75	\$265.50
2	EH48FDN	Stack-on Overhead Storage Hutch, 48W	\$142.00	\$284.00
2	862048	Fabric Tackboard, for Above Hutch, 48W	\$33.50	\$67.00
2	870842	Tasklight w/Electronic Ballast for 48W	\$56.25	\$112.50
2	PM137-233I	Three Drawer Mobile Pedestal Box-Box-File, Counter Weight, 24D	\$135.25	\$270.50
2	AKMK	Cobra Keyboard Platform/Sit to Stand/Mouse Tray	\$119.50	\$239.00
2	EAHSR48	Toolbar Slat Rail for Accessories, Hutch Mounted, 48W	\$44.75	\$89.50
2	EAFT	Mail Box In-Out Trays Two Levels	\$33.25	\$66.50
2	EASS	Paper Wave, Three Divided Slots for Organizing Files	\$22.75	\$45.50
5	ELF442NI	Four Drawer Lateral File/Locking, 42Wx18Dx52 1/3H	\$450.90	\$2,254.50
2	ELF436NI	Four Drawer Lateral File/Locking, 36Wx18Dx52 1/3H	\$393.30_	\$786.60

Total Section 3.38 \$6,053.90

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.39 (1) (Conference room) 5th Floor

<u>Seating</u> 12	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warran	ty \$290.58	\$3,486.96
<u>Credenza</u>	EL E226NI	Modular Two Drawer Credenza Lateral Cabinet, 36Wx18D	x28H \$230.70	\$461.40
2	ELF236NI			
1	AFNLFTP-72	l Modular Credenza Top/72Wx18D	\$98.10	\$98.10
Tables				
2	ALM4860RE	Conference Table Top, 48Dx60W	\$222.95	\$445.90
2	ABT34FG	Table Base For Above Top	\$180.60	\$361.20
1	GSAGNB	Ganging Bracket, Package of 2	\$25.20_	\$25.20
			Total Section 3.39	\$4,878.76

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108

- SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.40 (2) (Hospitality Areas) (4th Floor - 1) (5 th Floor - 1)

<u>Seating</u> 8	NMBL-1FC	Armless Guest Chair, Polypropylene Shell	\$57.75	\$462.00
<u>Tables</u>	NMDL-IFC	Armess duest chair, rotypropytene onen	Ψυυ	* 13-25-5
2	ALA36RND	Round Table Top, 36D	\$100.80	\$201.60
2	ABX27FG	X-Pedestal Base, Leveling Glides	\$126.00	\$252.00
			Total Section 3.40	\$915.60

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.41 (1) (Lounge) (4th Floor)

Seating				
28	NMBL-1FC	Armless Guest Chair, Polypropylene Shell	\$57.75	\$1,617.00
1		Sofa	No Bid	
1		Lounge Chair	No Bid	
			Total Section 3.41	\$1,617.00

West Virginia Department of Health & Human Resources

SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.42 (Lobby Area) (3rd Floor)

, , , , , , , , , , , , , , , , , , , ,			
NMBL-1FC	Armless Guest Chair, Polypropylene Shell	\$57.75	\$3,003.00
		3/4ERRO1 9000/60383	, , , , , , , , , ,
ALA3072RE	Table Top, 30Dx72W	\$142.10	\$142.10
ABPFC	Post Legs, Casters, Pair	\$92.75_	\$185.50
		Total Section 3.42	\$3,330.60
•	NMBL-1FC ALA3072RE	NMBL-1FC Armless Guest Chair, Polypropylene Shell ALA3072RE Table Top, 30Dx72W	NMBL-1FC Armless Guest Chair, Polypropylene Shell \$57.75 ALA3072RE Table Top, 30Dx72W \$142.10 ABPFC Post Legs, Casters, Pair \$92.75

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3,43 (Video Room) (3rd Floor)

Worksurface				
1	T532460S	Primary Worksurface, 24Dx60W, Grommets	\$99.00	\$99.00
2	CEP2429F	End Panel Support Leg, Non-Handed, 24"D	\$37.00	\$74.00
1	CS604	Half Height Modesty Panel, 60W, For Accessing Outlets	\$35.50	\$35.50
1	PF197-2031	Three Drawer Support Pedestal Box-Box-File, Locking	\$128.00	\$128.00
<u>Seating</u>				
1	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warranty	\$290.58	\$290.58
<u>Miscellaneou</u>	<u>is Items</u>	•		
1	EBC60	Open Bookcase, 3-Adjustable Shelves, 36Wx13Dx60H	\$238.70	\$238.70
		Tota	al Section 3.43	\$865.78

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

Section 3.45 (Small Conference	Room) (3rd Floor)			
Seating					
6	SCU-UW.A	Work Chair, Adj. Arms & Lumbar, Multi Shift 24/7 Warra	inty	\$290.58	\$1,743.48
5	T-SLOP	Arm Guest Chair, Fabric Upholstery	· · · · · · · · · · · · · · · · · · ·	\$151.14	\$755.70
<u>Tables</u>					
1	ALM3672RE	Conference Table Top, 36Dx72W		\$317.45	\$317.45
1	ABT24FG	Table Base For Above Top		\$158.20	\$158.20
1	Z5SC72	External Table Top Support Channel		\$29.05	\$29.05
<u>Miscellaneous</u>	<u>Items</u>				
1		Conference Board		No Bid	
2	ELF236NI	Modular Two Drawer Credenza Lateral Cabinet/36Wx18D	x28H	\$230.70	\$461.40
1	AFNLFTP-721	Modular Credenza Top/72Wx18D		\$98.10_	\$98.10
					·
			Total Section	3.44	\$3,563.38

West Virginia Department of Health & Human Resources SYSFURN10 BID SHEET

- Mr. Frank Whittaker - (304) 558-23167859

From:

Allsteel Inc.

- Jeff L. Barber - (412) 715-5108 - SAM STOUT - (800) 525-1951

Release No.: BCF13013 Project: DHHR, Bureau for Children and Families, Logan County Office

<u>Section 3.46 and 3.46A (Storage Room) (3rd Floor - 11 units) and (5th Floor - 5 units)</u> <u>Steel Storage</u>

16

Metal Storage Shelving, 36Wx18D

No Bid